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{E., 8, REHEMT, KBOE

o {HIH vs. %ﬂiﬁﬁ type Blob = Blob.Blob;

duplicate definition for Blob in block Motoko

mo:base/Blob
I . £ Hc3Hm
® gsa—':ll::]1t§§ T ﬁ%?“&ln )( View Problem  No quick fixes available
let Blob = "Blob";

o RAEWEIIIRIEERE

o ARRIFRIE W] LIRE BB HE IR

var seed : [var Nat8] = [var 0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0];
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EAheH

o H/RE Bool

o HARE Nat, Nat8, Natl6, Nat32, Nat64
o EH  Int, Int8, Intl6, Int32, Int64

o FME Float

o FFRIE Text

1
T

® It Char

® Principal
e Blob
e None
e Error
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Record (3837%45M) vs. Variant (#35€)

let person = {
name = "Jacky Chan";
age = 67;

}s

func f() : {name: Text; age: Nat} {
person

}

JC2H (tuple) BICEKLEEH (record) BI4FFERZ =X

let x : (Int, Bool) = (10, false);
let y : Bool = x.1;

type Gender = {

#male;
#female;
s
let person = {
name = "Jacky Chan";
age = 67;

gender = #male;

¥s

func f() : {name: Text; age: Nat} {

person

55

field gender does not exist in type

{age : Nat; name : Text} Motok

View Problem

let g = f().gender;

No quick fixes available

{0
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$#Ez{CES (Pattern match)

type Person = {
name: Text;
age: Nat;
gender: Gender;

s

func retired(person: Person) : Bool {
switch (person.gender) {
case (#male) (person.age >= 60);
case (#female) (person.age >= 55);
¥
}s

type Gender = {

#male;

#female;
#unspecified: {retire_age: Nat};

|

func retired(person: Person) : Bool {

switch
case
case
case

0

(person.gender) {

(#male) (person.age >= 60);

(#female) (person.age >= 55);
(#unspecified({retire_age})) (person.age >= retire_age);

OCC orinNntTY



Option 1 Result

func retired(person: Person) : ?Bool { type Result<Ok, Err> = {
switch (person.gender) { #ok : Ok;
case (#male) ?(person.age >= 60); #err: : Err;
case (#female) ?(person.age >= 55);
case (#unspecified) null; //import Result "mo:base/Result";
} //type Result<R, E> = Result.Result<R, E>;
¥

func retired(person: Person) : Result<Bool, Text> {
switch (person.gender) {

PY Option %éﬂ ?BOO|, ?Nat, case (#male) #ok(person.age >= 68);
case (#female) #ok(person.age >= 55);
P Option 1E nuII, ?true, ?12’ : case (#unspecified) #err("Unknown");
}s

e Result ZEE!: Result<R, E>
e Result {1&: #ok(true), #err(“Unknown”)

OCC orinNntTY
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o PBRE: MIE NI (Domain) E{EIE (Range) RIBRLET X 2
o AU ()-> Result<Bool, Text>, () -> (), ...
o HHMTENX

func dec(a: Int) : Int { a - 1 };
func inc(a: Nat) : Nat { a + 1 };

o ERANHE

let dec : Int -> Int = func (a) { a - 1 };
let inc = func (a: Nat) : Nat { a + 1 };
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From “mo:base/Array”:

/// Initialize a mutable array with “size’ copies of the initial value.

public func init<A>(size : Nat, initval : A) : [var A] {
Prim.Array_init<A>(size, initval);

};

/// Initialize an immutable array of the given size, and use the

public func tabulate<A>(size : Nat, gen : Nat -> A) : [A] {
Prim.Array_tabulate<A>(size, gen);

s

// arr = [var 42, 42, 42, 42, 42] : [var Int]

let arr = Array.init<Int>(5, 42);

(1 Brri= 1[0y Ay 25, ¢ emy: 9941 & ([NaE]

let brr = Array.tabulate<Nat>(166, func (i) { i });

Ll erpre= [Q: 12, s .5 298] : [Int]
let crr = Array.tabulate<Int>(100, func (i) { i * 2 });

“gen®

function to produce the initial value for every index.
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Object (%)

object counter {
var count = 0;
public func inc() { count += 1 };
public func read() : Nat { count };
public func bump() : Nat {
ine();
read()
¥
¥

let counter : Counter = do {
var count = 0;
let inc = func () { count += 1; };
let read = func () : Nat { count };
{
ine = inc;
read = read;
bump = func () : Nat { inc(); read() };
}
}s

type Counter = {
inc: () -> ();
read: () -> Nat;
bump: () -> Nat;
}s

let counter : Counter = object {
var count = 0;
public func inc() { count += 1 };
public func read() : Nat { count };
public func bump() : Nat {
inc();
read()
}s
};

c><: DFINITY



Actor

actor Counter { actor Counter {
var count = 9; var count = 9;
public shared func inc() : async () { count += 1 }; public shared func inc() : async () { count += 1 };
public shared func read() : async Nat { count }; public shared query func read() : async Nat { count };
public shared func bump() : async Nat { public shared func bump() : async Nat {
count += 1; await inc();
count; await read();
s ¥;
}; o
type Counter = actor { type Counter = actor {
inc : shared () -> async (); inc : shared () -> async ();
read : shared () -> async Nat; read : shared query () -> async Nat;
bump : shared () -> async Nat; bump : shared () -> async Nat;
¥ ¥
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SCfl - Microblog

public type Message = Text;

public type Microblog = actor {
follow: shared(Principal) -> async (); // IS ERNS
follows: shared query () -> async [Principal]; // R[EIZF7IFE
post: shared (Text) -> async (); // AfbsmaE
posts : shared query () -> async [Message]; // IREIFIBAGHGRIEE
timeline : shared () -> async [Message]; // IREIFFEXSTNSEAMATEE
¥
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BT caller id HITHEEE

THR(EERBOAR) A —THE—HRENLZIET (caller)
o HARPAHIIHER
e Canister AR Z[8) & ERIE R
Al LLEACHS P E $E3R R caller B9 &5 (principal id)

public shared (msg) func post(text: Text): async () {
assert(Principal.toText(msg.caller) == "...");

Q’" DFINITY
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1. B Message EER B A— 1 IERLEMN,
FERB®EHRM time FE&, IEFLEE
HAETIE],
&k posts # timeline A%, {{ULR[EIFE

ERTEZ RIS

import Time "mo:base/Time";
func posts(since: Time.Time): async [Message] {..};
func timeline(since: Time.Time): async [Message] {..};
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